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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. TR gauey 109 U U3 W A oF 9 o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. T U F TR T ST TURR B HAl FHR H I / IR /A
BH TR &Y AT 3 U o HEl 6 |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

3.  |H U A TG & | YT HHIE 23 H A IH g © |

All the questions are compulsory. Question Nos. 23 has internal
choice.

4. U YT 1 IR &l T8 SR-Yashl H & e |
Write the answer to each question in the given answer-book only.
5. 9 U % UH U 3 ¥ AN 37 a6l ¥ §, 39 G 97 A FA TH
Y . G |
For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in
continuity.

SS—36-2— Bus. Maths. & Stat. I SS-574-11 [ Turn over



2

6. U WS 2 ¥ 11 TF 31T TS & |

Question Nos. 2 to 11 are very short answer type.

7. SW-YRAS & Tk AT AR AT AT HE I® HE HAT @, Al
ST-YRAHT o 31 =i W L 3R W RSt ARAl ¥ FHE 3T W
‘T A FHT I

Write on both sides of the pages of answer-book. If any rough
work is to be done, do it on the last pages of the answer-book.
Write the word “Rough Work” by crossing it with slant lines.

8. U HHIH 1 % IR 9 ( i, ii, ili 99T iv) &1 U 9N & IW & OR
FHeT (31, &, § T T ) &1 WE THeT H IWER I-YRIF |
TEHER AT TRl TR A

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U9 SHHIE HE AT FT HHER

Question No. Correct letter of

the Answer

1. (i)

1. (ii)

—

. (i)

1. (iv)

1. () UH FRh ol Al aR IS STl €, Fed He3t ! G €

(a1 3 @ 6

@ 8 ® o.
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One coin is tossed three times, the total number of events are

A) 3 B) 6
C) 8 (D) o. 5
(i) SHEr AT TS H U TRl €

(s1) 2 @ 1

@ 3 @ o.

The probability of a sure event is

(A 2 B) 1

© 3 D) o 3

(i) &Y T TS YSH o X TH AR YR FAT| 4 HIE GLAT T off

FS TSl O 9 AR § WRER 99 T T 99 % o § ol

SeaRT SRTR-SRTER g3 &, Al @ 3R JTH3T <l Yoit T 3T &

(3 1:1 (& 1:2

@ 2:3 ® 3:2.
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Rahim started a business with some capital. After 4 months
Rakesh also became a partner with some investment. If the
profit is shared equally at the end of the year, then the ratio of

the capitals of Rahim and Rakesh is

@A) 1:1 B 1:2

€ 2:3 (D) 3:2.

N |—

(iv) T T 3 UH BH H 2 : 3 % U § MY Sied gU WERER ¢
IR T B T UG W TR T FH AT H T GREER AT-ATT

SRS e | R WIRIKRI 3T AT T T 3T ©

(31 1:4 @ 2:1

@ 3:2 ® 4:1.

Vinay and Ajay are partners sharing profit in the ratio of 2 : 3.
They admit Pavan on the condition that in future all partners
will divide profit or loss equally. Profit sacrificing ratio of old

partners is
(A 1:4 B) 2:1

) 3:2 (D) 4:1.

N |[—
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-1 2
}H?JTB: 3 4|,@ A+BT % HH G RIS
-5 -6

2 3 -4
g A:{

-1 2 3

-1 2
}and B=| 3 4 |, then find the value of A+B”. 1
-5 -6

2 3 -4

If A=
-1 2 3

2 -1 1
AT A=|-1 7 4| U TETTIAIHE, A x I A Id HI 5T |
1 -x -3

-2 -1 1
If A=|-1 7 4] is a symmetric matrix, then find the value of x. 1
1 -x -3

4 8

T
‘2 k

‘:4 &, @ k 1 A 0 SIS

4 8

If ‘ 5 K ‘ =4, then find the value of k. 1

T Sffehel ¥ AR TN I hi S

50, 55, 57, 49, 54, 61, 64, 59, 59, 56
Find the Range coefficient from the data given below :

50, 55, 57, 49, 54, 61, 64, 59, 59, 56. 1
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6. AT VeI TUNH 0.8 & qAT U Jrl i W& 100 &, A THY & a4

TUTIR ST THTT FYH AT i ST |

If coefficient of correlation is 0:8 and number of pairs is 100, then find

standard error of coefficient of correlation of universe. 1

7.  qelE, Gl AR WET 9 Al AR U 60,000 YT S| IT IS A
Tl ¥ 10,000 T0F A ¥ AR Geig 7 USIT ¥ 10,000 TYT 37 € 7T ol
15,000 YT 1T H Te T AT I bl 9T |
Rajiv, Sanjeev and Pradeep jointly invested Rs. 60,000 in a business.
If Rajiv’s capital is Rs. 10,000 more than Sanjeev’s and Sanjeev’s

capital is Rs. 10,000 more than Pradip’s, find the Sanjeev’s profit in a

profit of Rs. 15,000. 1

8. AT BT FHAIM 50,000 To TH 80,000 To TN SeRl 2009 i =ATIR
YR FHAT| B 8 HE &% 20,000 To ®H H THT oW S[GFH A 7 10 HE
X 10,000 Fo T FFASH AT, A TTHN Teh I8 & 3 H TArE! Gil 3T

T I T
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A and B started business from January, 2009 and invested Rs. 50,000

and Rs. 80,000 respectively. B withdrew Rs. 20,000 after 8 months
and A added Rs. 10,000 after 10 months, then find the effective capital

ratio after one year. 1

9. TH HFHN §RT 1,00,000 3T T 1 To UT 3 & ¥H Hod W THA HaAT
T AT HEA GRT AT FoT A 15,000 Fo &, A FHEAT FRT T F

T AT T TR TS i |

A company issued 1,00,000 shares at par value of Re. 1 each. If the
total dividend declared by the company is Rs. 15,000, find the rate of

dividend paid by the company. 1

10. A 7 6% WiH H 81 T0F W (2 Fo TAMA) 2,07,500 TYF I o TN

AT T | HHA & o TINT G Ak 37T Tl I 5T |

Kamal invested Rs. 2,07,500 in 6% stocks at Rs. 81 (Brokerage Rs. 2).

Find Kamal’s annual income from his investment. 1
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12.

13.

8

140 To 3T Hd og dlct 9% FUYT ST IR | 210 Fo W 3UGY & ¥ W

T T A9 I bl W |

Find the income per cent on 9% debentures of face value Rs. 140,

whose market value is Rs. 210.

T T @ GHRl 9 THIT SeeT 3T &l 57T :

X 9 12 15 18 21 24 27 30

f 20 60 150 | 250 | 200 | 120 50 40

Find the standard deviation from the following data :

X 9 12 15 18 21 24 27 30

f 20 60 150 | 250 | 200 | 120 | 50 40

T TG RS T x T y I AT & T Feqra o7 AT i 57T

T x STt y
TSI ST G 10 10
TR AT 22 68
T S 2-87 7-51

TET SO % Tl o UG F AN = 123,
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Find the coefficient

following data :

No. of items

Arithmetic mean

Standard deviation

9

of correlation between x and y series from the

Series x

10

22

2:87

Series y

10

68

7-51

Sum of the products of deviations of both series = 123.

14. TH I H 8 e, 5 Hiedl, 4 8T 3R 3 drelt 7S &1 Th AEfedsh W0 9 Teh

T Tehlo T 3Gk shielt AT & T I7 dielt TS B bl T Jehel 1T i 9T |

A bag contains 8 white, 5 black, 4 green and 3 yellow balls. One ball is

drawn at random in one experiment. Find the probability that drawn

ball is black or green or yellow.

3

15. Hied, A8 3R T 5: 4 : 3 H o819 died &l 99 W FEER § J69

FA €1 IBE BH T FHI: 4,00,000 To, 3,00,000 To 3R 2,00,000 Fo T
Ift o | o % SR ®H T 1,44,000 To Hi €T g1 99 % A H WHERI
! YST T I 1 IS0
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Sohan, Mohan and Kishan enter into a partnership and divide share of
profit or loss in the ratio 5 : 4 : 3. They invested Rs. 4,00,000,
Rs. 3,00,000 and Rs. 2,00,000 respectively in the firm. The firm has
suffered the loss of Rs. 1,44,000. Find the balance of capital of each

partner at the end of the year. 3

16. HAA T THA 5 : 4 & UM | A i §U WEER & | 39 T WERRT FE
H WET 30 @Y B % U 15,000 Fo WHIA & &Y § ofH W I4T TAT|

T H dHl FERR ®H & oY & sRe-ae §ied &1 9999 Hd 2|

T AT T ST ! 57T |

Kamal and Vimal are partners sharing profit in the ratio of 5 : 4.
Deepak is admitted into partnership paying a premium of Rs. 15,000
for his share of profit. All the partners decide to share the future

profits equally. Distribute the premium. 3

17. OI¥ % U Uk FHA & 5 Fo W Hed dlct 16,000 31 T 10 Fo TH T
A 12,000 FHOTIT &1 HEAN M W 6% oMk ST T FHOTTH W 12%

M =T I &1 A B oA A qA IHH I W TAET R A
ST
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Latesh has 16,000 shares of par value Rs. 5 each and 12,000

debentures of par value Rs. 10 each of a company. The company pays

an annual dividend of 6% on the shares and interest of 12% on the

debentures. Find the total annual income of Latesh and rate of return

on his investment. 3
1 1 -1 1 2 3
18. AT A= 1 O 1| dI@M B=|4 5 6|,dd TEsU v AB+# BA |
-1 1 0 7 8 9
1 1 -1 1 2 3
IfA=| 1 0 1|and B=|4 5 6| ,then show that AB = BA. 4
-1 1 O 7 8 9

19. U UIhT TIA W FR IHT & Th &7 o 25 TIF OAT 51 T8I 6T & TIehT

% 10 THF T SACH & | TR el W AT TR & @Al - HoATRT 37 Lehe™
300 9T&T U T TG ST bl £1 T BRI o M Hl 31 TE1 6 T HA
% ITAN B o AT A0 A TR 400 I TEAT AR W FHY ST oAl £ |
A YHAR AT & AT YR AT A h HR adl & T8IT e TS H ST

T U &7 S 54 |
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In a parking place for one day Rs. 25 is charged for car parking and
Rs. 10 is charged for two-wheeler. Maximum number of vehicles of
both kinds can be parked at a time is 300. If the parking space
reserved for car be used for two-wheelers, then maximum of
400 two-wheelers can be parked. Give the mathematical formulation
for maximum profit and number of cars and two-wheelers parked by

the owner. 4

20. THAAET I TH TUHT THET i 3Rl T4 F & i 9T

3 gehdH Z =6x+35y

EIGERC x+y <10
2x+y <16

FUTR T T+ x>0, y>0.

Solve the following linear programming problem by graphical method :

Maximize Z =6x+95y
constraints x+y <10
2x+y <16
non-negative constraints x>0, y>0. 4
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21, TH AT A, 4 HT 3 T Y ol § S9F §OT A® B, 5H T 4 T9H

Y ST &1 SHl SAH AT T8 h1 T Fd & | TRl T H ST

T 1Y T ST |
A person A can hit a target 3 times in 4 shots, while a second person

B, 4 times in 5 shots. Both the persons try to hit the target. Find the

probability of hitting the target. 4

22. Uk & 8% Td 9% ik H THM WI HT o TN Kl & d1 THH & 37T

~

31T AT €1 AT UAH YR & Wik T 3 & Tod 100 To & T 8% &Ik

Hl 4 To & T3 W HI FHAT &, A 9% Wik hl GG FH T A I ST

A person invests equal sums in 8% and 9% stocks and obtains equal
income. If each type 8% stock is purchased at a discount of Rs. 4, find

the purchase value of 9% stock, given that face value of each type of

stock is Rs. 100. 4
3 -2 3
23. A=[2 1 -1 kT ’E AT I ST
4 -3 2
31
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HR FIH T T A Gd GHIHIOT TR T & I bl 9T

3x-y+4z=13
Sx+y-3z=35

x-y+z=3

3 -2 3

Find the inverse of matrix A =2 1 -1.
4 -3 2
OR

Find the solution of the following system of equations by Cramer’s

rule :

3x-y+4z=13
Sx+y-3z=35

x-y+z=3

5

24, TN ®H H & 3R WY 7 FHI: 60,000 To T 80,000 To TR T

1 o), 2009 H FIEE YT FHAT| 1 ®ERI, 2010 H H A

20,000 To IOH THA @l & I 2,000 To Td HE - I Sl & |
IO & STER WEERI & Y W 10% dNeh =S o1 &1 BF % 3
3T H @ 31 A, 2010 & FH % T W o0l @d T I™T I TH 6 o

T H AT 37,500 o & TNT FAE Usil & ST H dfed ¢ | Ui WPk

T AT AW I I W |
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Hari and Mahesh entered in a partnership business on 1st November,

2009 and invested Rs. 60,000 and Rs. 80,000 respectively. On 1st

February, 2010 Mahesh withdrew Rs. 20,000. As per agreement

interest is allowed on capital of partners at 10% per annum and salary

paid to Hari Rs. 2,000 per month. Before subtracting above amount

firm earned profit of Rs. 37,500 on the date of accounting year closed

on 31st March, 2010. Profit is divided in effective capital ratio. Find

share of profit of each partner. S
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